
BIOLOGY

NEET & AIIMS

MOCK TEST 39

Example

1. Ecology is basically concerned with how

many levels of biological organisation?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qgQysaBivmbF


A. 4

B. 5

C. 6

D. 3

Answer: A

Watch Video Solution

2. A unit of land with a natural boundary

having mosaic of patches and represent

different ecosystems is

https://dl.doubtnut.com/l/_qgQysaBivmbF
https://dl.doubtnut.com/l/_GZ3txMaqgod0


A. Biome

B. Landscape

C. Biosphere

D. Community

Answer: B

Watch Video Solution

3. Which of the following biomes have

maximum mean annual temperature as well as

maximum annual participation?

https://dl.doubtnut.com/l/_GZ3txMaqgod0
https://dl.doubtnut.com/l/_UU7DBHu8YdRT


A. Coniferous forest

B. Tropical rain forest

C. Dessert

D. Grassland

Answer: B

Watch Video Solution

4. Select incorrect statement w.r.t. main

functions of humus

https://dl.doubtnut.com/l/_UU7DBHu8YdRT
https://dl.doubtnut.com/l/_VBvPdfArgp5N


A. Prevents soil from compaction

B. Prevents the formation of soil crumbs

C. Improves aeration of soil

D. Improves water holding capacity of soil

Answer: B

Watch Video Solution

5. Tropical rain forest are characterised by all

of the following, except a. 30-40 m tall trees b.

https://dl.doubtnut.com/l/_VBvPdfArgp5N
https://dl.doubtnut.com/l/_7Tw3z6OfdH9p


4-5 strata c. Leaves are long needle like d.

Permafrost e. Woody climbers and epiphytes

A. a, b & e

B. d & e

C. e only

D. c & d

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_7Tw3z6OfdH9p


6. Abies, lizards and polar bear can tolerate (a)

Wide range of temperature (b) Only a narrow

range of temperature (c) Wide range of

salinities

A. (a) & (b)

B. (b) & (c)

C. (b) only

D. (a) & (c)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Zl2K7ZrH5FRW


Watch Video Solution

7. Which one of the following is not major

biome of India?

A. Tropical rain forest

B. Deciduous forest

C. Dessert

D. Grassland

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Zl2K7ZrH5FRW
https://dl.doubtnut.com/l/_1orWPWxL3pxq


8. Mark the incorrect statement.

A. The levels of thermal tolerance of

different species determine to a large

extent their geographical distribution

B. The productivity and distribution of

plants is heavily dependent on water

C. Temperature affects the diurnal and

seasonal variations in organisms for

https://dl.doubtnut.com/l/_1orWPWxL3pxq
https://dl.doubtnut.com/l/_PSOEsqRYUuMU


timing their foraging, reproductive and

migratory activities

D. For aquatic organisms the chemical

composition and pH of water is

important

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_PSOEsqRYUuMU


9. The salt concentration (measured as salinity

in parts per thousand) is ____ in inland water.

A. 20-30

B. Less than 5

C. 30-35

D. 35-100

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_IxGWSyrNT6Ta
https://dl.doubtnut.com/l/_RM0xFwk1Apz7


10. What is the most ecologically relevant

environment factor?

A. Light

B. Water

C. Soil

D. Temperature

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RM0xFwk1Apz7


11. Organisms that can regulate their body

temperature and remain constant irrespective

of surroundings are called

A. Homeotherms

B. Warm blooded animals

C. Poikilotherms

D. Both (1) & (2)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Vnrwe7d3Dy1Q


12. Megathermic organisms are found in

A. Tropical zones

B. Sub-tropical zone

C. Temperate zone

D. Arctic zone

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pL5OF1oR7J5U


13. Which one of the following UV radiations

is/are moderately harmful to many organisms?

A. UV-A

B. UV-B

C. UV-C

D. UV-A and B

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bqs1TNjDqPVy
https://dl.doubtnut.com/l/_BGBQNyzthL1b


14. Which of the following zones of lakes

receives diffuse light at or below light

compensation point?

A. Limenetic zone

B. Euphotic zone

C. Disphotic zone

D. Profundal zone

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_BGBQNyzthL1b
https://dl.doubtnut.com/l/_HzCLEJD31ZTU


15. Washing down of materials in the soil from

upper strata is called

A. Eluviation

B. Illuviation

C. Pedogenesis

D. Weathering

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_HzCLEJD31ZTU


16. Choose the incorrect statement(s) for

conformers. 

A. Aquatic animals can change osmotic

concentration of body fluids with that of the

ambient water osmotic concentration. 

B. Body temperature doesnot change with

small fluctuation in environmental

temperature. 

C. Cannot maintain a constant internal

environment

A. Only B

https://dl.doubtnut.com/l/_d1xKvwhhrrwi


B. Only A

C. Only A and B

D. A, B and C

Answer: A

Watch Video Solution

17. Match the following coloumns and select

the correct option. a. Hibernation(Coloumn-I) -

(i) Snails(Couloumn-II) b. Aestivation(Coloumn-

I) - (ii) Many zooplanktons(Coloumn-II) c.

https://dl.doubtnut.com/l/_d1xKvwhhrrwi
https://dl.doubtnut.com/l/_iFVlXwFaadRa


Migration(Coloumn-I) - (iii) Polar

bears(Coloumn-II) d. Diapause(Coloumn-I) - (iv)

Siberian cranes(Coloumn-II)

A. a(iii), b(iv), c(i), d(ii)

B. a(iii) ,b(i) ,c(iv) ,d(ii)

C. a(i) ,b(iii) ,c(ii) ,d(iv)

D. a(iii) ,b(ii) ,c(iv) ,d(i)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_iFVlXwFaadRa
https://dl.doubtnut.com/l/_Je80aD7I1uiH


18. At higher altitudes body overcome altitude

sickness by increasing

A. Binding capacity of haemoglobin with

O2

B. RBCs production

C. Breathing rate

D. Both (2) and (3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Je80aD7I1uiH


19. Genetically adapted population is referred

as

A. Ecotone

B. Ecoiine

C. Ecotype

D. Ecad

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_J6brID9cZz3F
https://dl.doubtnut.com/l/_Mo0FUv7euXNj


20. Allen's rule state that

A. Mammals from colder climates have

larger body size to minimize heat loss

B. Fishes growing in polar region have

large number of vertebrae to maximize

heat loss

C. Mammals from colder climates generally

have extremities to minimize heat loss

D. Birds found in colder geographical zone

have broader wings to maximize surface

https://dl.doubtnut.com/l/_Mo0FUv7euXNj


area

Answer: C

Watch Video Solution

21. Xerophytes have all of the following

characteristics, except

A. Well developed, profusely branched and

extensively spread roots

B. Hard and woody stem

https://dl.doubtnut.com/l/_Mo0FUv7euXNj
https://dl.doubtnut.com/l/_sMzA5hLro7ai


C. Large air spaces and aerenchyma

D. Thick cuticle on leaf and stem epidermis

Answer: C

Watch Video Solution

22. Select the odd one w.r.t. succulent

A. Asparagus

B. Euphorbia

C. Cassia

https://dl.doubtnut.com/l/_sMzA5hLro7ai
https://dl.doubtnut.com/l/_cnHNwetR9kDF


D. Opuntia

Answer: C

Watch Video Solution

23. Which of the following is called molecular

scissors in context of biotechnology?

A. DNA ligase

B. Restriction exonucleases

C. DNA polymerase

https://dl.doubtnut.com/l/_cnHNwetR9kDF
https://dl.doubtnut.com/l/_NPrRGc5TKzvZ


D. Restriction endonucleases

Answer: D

Watch Video Solution

24. Which of the following two core

techniques enabled birth of modern

biotechnology? (a) Genetic engineering (b)

Electrophoresis (c) Maintenance of sterile

ambience in chemical engineering processes

(d) Development of competent hosts

https://dl.doubtnut.com/l/_NPrRGc5TKzvZ
https://dl.doubtnut.com/l/_gn0nuYgcEmWe


A. (a) and (b)

B. (a) and (c)

C. (b) and (d)

D. (b) and (c)

Answer: B

Watch Video Solution

25. A scientist performed studies on a couple

of restriction enzymes of E.coli bacterium that

https://dl.doubtnut.com/l/_gn0nuYgcEmWe
https://dl.doubtnut.com/l/_Yj9wp9htEwWy


produced DNA with sticky ends. This scientist

was

A. Herbert Boyer

B. Stanley Cohen

C. Boyer and Cohen

D. Chain and Florey

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Yj9wp9htEwWy


26. Who develop a method of removing

plasmids from the cell and then reinserting

them in other cells ?

A. Herbert Boyer and Cohen

B. Alexander Fleming

C. Stanley Cohen

D. Herbert Boyer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ziZCaecfIosZ


27. What is recombinant DNA?

A. DNA in which RNA is integrated

B. DNA which is obtained by transcription

of RNA

C. DNA which is inserted into a newly

reconstructed cell

D. DNA which contains alien genes i.e.

genes from more than one source

organism

https://dl.doubtnut.com/l/_9Aa6f2Iq6GAm


Answer: D

Watch Video Solution

28. If a piece of DNA in transferred into alien

organism, what will happen?

A. Most likely this piece of DNA will multiply

itself on its own and is transferred into

progeny cells of the organism

https://dl.doubtnut.com/l/_9Aa6f2Iq6GAm
https://dl.doubtnut.com/l/_13VcLCiqxjD1


B. Most likely this piece of DNA will not be

able to multiply itself in the progeny

cells of the organism

C. It multiplies when gets integrated into

the genome of the recipient at ori but is

not transferred into progeny cells of the

organism

D. It will multiply itself after some food is

added in the alien cell

Answer: B

https://dl.doubtnut.com/l/_13VcLCiqxjD1


Watch Video Solution

29. Choose the correct statement.

A. Restriction enzymes are hydrolytic

enzymes

B. Restriction enzymes promote virus

infection in bacteria cells

C. DNA ligase can be obtained from all

prokaryotes

https://dl.doubtnut.com/l/_13VcLCiqxjD1
https://dl.doubtnut.com/l/_xGKDUZFLfZ65


D. Only one restriction enzymes can be

isolated from one eukaryotic organism

Answer: A

Watch Video Solution

30. Which of the following is not a tool of

recombinant DNA technology?

A. Restriction enzymes

B. Cloning vectors

https://dl.doubtnut.com/l/_xGKDUZFLfZ65
https://dl.doubtnut.com/l/_pj4DJziphesk


C. Competent host

D. Recombinant proteins

Answer: D

Watch Video Solution

31. Choose incorrect match amongst

restriction enzymes listed in column l and type

of ends produced in column ll

https://dl.doubtnut.com/l/_pj4DJziphesk
https://dl.doubtnut.com/l/_qKZCu58nztNA


A. Column I - EcoR I and Column II - Sticky

end

B. Column I - Hind III and Column II - Sticky

end

C. Column I - Sma I and Column II - Blunt

end

D. Column I - Bam HI and Column II - Flush

end

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_qKZCu58nztNA


32. Read the following statements and choose

the option with incorrect statements. (a)

Restriction enzymes are obtained from

prokaryotes. (b) Restriction endonucleases cut

DNA strands by breaking hydrogen bonds at

specific points. (c) More than 230 restriction

enzymes have been isolated from more than

900 strains of bacteria. (d) Each restriction

enzyme recognizes a specific palindromic

nucleotide sequence in DNA.

https://dl.doubtnut.com/l/_qKZCu58nztNA
https://dl.doubtnut.com/l/_ppDd7loHQlvk


A. (a) and (b)

B. (b) and (c)

C. (c) and (d)

D. (a) and (d)

Answer: B

Watch Video Solution

33. Which of the following is incorrect?

https://dl.doubtnut.com/l/_ppDd7loHQlvk
https://dl.doubtnut.com/l/_mp9Gjig3usth


A. Both bacteriophages and plasmids can

be used as cloning vectors

B. Bacteriophages have high copy numbers

of their genome within bacterial cell

C. Cloning vectors must have an Ori and

MCS region

D. A good cloning vector definitely contains

more than one recognition site for the

restriction enzyme to be used

Answer: D

https://dl.doubtnut.com/l/_mp9Gjig3usth


Watch Video Solution

34. Read the following five statements in

context of a plasmid. (a) Its DNA is always

double stranded. (b) Its DNA is naked and

without histone proteins. (c) Its DNA can

replicate independent of genomic DNA. (d)

Both exons and introns are present in plasmid

DNA. (e) Plasmid DNA can be either linear or

circular. Which of the above given statements

are incorrect?

https://dl.doubtnut.com/l/_mp9Gjig3usth
https://dl.doubtnut.com/l/_ANcPwEv65Fkw


A. (a) and (e)

B. (c) and (e)

C. (a), (b) and (c)

D. (d) and (e)

Answer: D

Watch Video Solution

35. If you can ligate foreign DNA at the BamHI

site in the vector pBR322, which of the

following will occur?

https://dl.doubtnut.com/l/_ANcPwEv65Fkw
https://dl.doubtnut.com/l/_DXZHMGqsVjNL


A. The recombinant plasmid will lose the

ability to confer ampicillin resistance to

the host bacteria

B. Bacteria containing recombinant pBR322

are unable to grow in tetracycline

containing medium

C. Bacteria with recombinant plasmid will

lose resistance to both tetracycline and

ampicillin

https://dl.doubtnut.com/l/_DXZHMGqsVjNL


D. Recombinant bacteria grow in

tetracycline containing medium but are

unable to grow in ampicillin rich medium

Answer: B

Watch Video Solution

36. Choose the mismatched pair from given

options.

https://dl.doubtnut.com/l/_DXZHMGqsVjNL
https://dl.doubtnut.com/l/_YHrEXUcl3b5Q


A. Insertional inactivation - beta-

galactosidase

B. YAC vector - Yeast artificial chromosome

C. BAC vector - Largest bacteriophage

vector

D. Ti plasmid - Agrobacterium tumefaciens

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YHrEXUcl3b5Q


37. Which of the following can prove useful as

a vector in both a prokaryote and eukaryote?

A. YEp

B. Cosmid

C. Adenovirus

D. Retrovirus

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_B5cDZqIcrFky
https://dl.doubtnut.com/l/_5kcGh4evqTAD


38. Match column I with II and choose the

correct option from given code

A. a(i), b(ii), c(iii), d(iv)

B. a(ii), b(i), c(iii), d(iv)

C. a(ii), b(iii), c(iv), d(i)

D. a(ii), b(iii), c(i), d(iv)

Answer: D

https://dl.doubtnut.com/l/_5kcGh4evqTAD


Watch Video Solution

https://dl.doubtnut.com/l/_5kcGh4evqTAD

